
Splittingeffekt der Endbesteuerung

Einkünfte "normaler" Steuersatz 50.000,00         
"besonderer" Steuersatz 50.000,00         
Gesamteinkommen 100.000,00       

"normale" Besteuerung Gesamteinkommen 40.235,00         
in % 40,24%

Berechnung Splittingeffekt

mit Progressionsvorbehalt

"normale" Einkünfte 50.000,00         
Steuer 20.117,50         

in % 40,24%

"besondere" Einkünfte 50.000,00         
Steuer 12.500,00         

Steuer gesamt 32.617,50         

ohne Progressionsvorbehalt

"normale" Einkünfte 50.000,00         
Steuer 15.913,57         

in % 31,83%

"besondere" Einkünfte 50.000,00         
Steuer 12.500,00         

Steuer gesamt 28.413,57         

Diffenz = Splittingeffekt 4.203,93           


